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QUESTION 1

According to NetApp best practices, how many NTP servers should you associate with an ONTAP cluster?
B.1

C.3

D.4

Correct Answer: C

QUESTION 2

You have just installed a new FAS2650 HA for your customer. You are now configuring the NetApp AutoSupport
transport section.

In this scenario, what is the NetApp best practice for this task to allow AutoSupport on Demand (ASOD)?
A. Use SMTP.

B. Use HTTPS.

C. Use HTTP.

D. Use SSH.

Correct Answer: B

QUESTION 3

A customer wants to expand their 10-node AFF A700s SAN cluster on Cisco Nexus 3132Q-V interconnect switches.
The customer has six AFF A700s nodes available.

In this scenario, what should you do to expand the cluster?

A. Add two nodes to the existing cluster without exceeding the SAN cluster limit.

B. Add six nodes to the existing cluster.

C. Replace the switches with Cisco Nexus 5596 T switches and then add the six nodes.
D. Add an expansion module to each switch and then add the six nodes.

Correct Answer: D

QUESTION 4

You want to grow your current ONTAP cluster. You have a Cisco Nexus 5596UP that is currently using all of its on-

NS0-182 VCE Dumps | NS0-182 Practice Test | NS0-182 Braindumps 2/3


https://www.passapply.com/ns0-182.html
https://www.passapply.com/ns0-182.html
https://www.passapply.com/ns0-182.html

VCE & PDF https://www.passapply.com/ns0-182.html
2024 Latest passapply NS0-182 PDF and VCE dumps Download
PassApply.com

board ports.

Which statement is correct in this situation?

A. Contact NetApp Support to order new switches.

B. Add expansion modules to the Cisco switches.

C. Pull the redundant cables from each node to obtain more free ports on the switch.
D. Add new SFP modules to the empty on board ports on the Cisco switches.

Correct Answer: B

QUESTION 5

Which type of partitioning would you use when installing a FAS8200 with 24 SAS drives running ONTAP 9.5?
A. root-root-data partitioning

B. root-data-data partitioning

C. root-data partitioning

D. root-root-data-data partitioning

Correct Answer: B
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